)/25,'$ $7/$17,& 81,9(56,7<
127,&( 2) 352326((*B/$7,21 $0(1'0(17

'‘DWH 2FWREHU

5(*8/%$7,21 7,7/( $1' 180%(5H[WERRN DQG ,QVWUXFWLRQL
$IIRUGDELOLW\ I N D 7H[WERRN $GRSWLRQ

6800%$5<



JORULGD $WODQWLF 8QLYHUVLW






WKDQ ROHOWHUPL D-FOARYMW HRI FRXUVHV WKDW KDYH D ZLGH
DPRQJ VHEWLRQOQV RU WKDW KDYH 1UMWXUKXEGW LARK@DIROD HAD WEI W/
UHYLHWKEH\ DSSURSULDWH DFEDGHPLF GHSDUWPHQW FKDLU

—  T7KH 'LUHFWRU RI 6WXGHQW )LQDQFLDO RRLGWRH GH\
8QLYHUVELW\WAHHEWY SURFHGXUH QOWRURPB R AW H VEERHBEN &

LOVWUXFWLRQRO HDWK UERXWVH RIITHULQJ DYDLODEOH WR
FDQQRW DIIRUG WKH HRWDIRG LW K H RVHV WEHRWIRINW LR Q RI WKH |

DFFHVV RU 2(5 WH[WERRNV RU LQVWUXFWLRQDO PDWHULD




